OO0 mxnUOUOooooogd

0o O

20040 90 1500000 (20040 80 1300 0)

0 O

1 0Joobbooooooboodod 1
1.1 00000000 .00 e e
1.2 00000000 .00 e 6
1.3 00000000000 .o 6

1 OJo0ooboboooboboboobn

KOooooooobooboobooboo.

1.1 0O00ddooo
rT, .. T Y-, Yy, E KX 000000000O0O00ODOO0ODOO0O:
e r 000 xpy - ox, Y-y 0 K*O00OODODODO.

o r;, vy, UUD 000D DDOOOOOOO 2ZO000000000:
Litm = Ty, Yi+m = TY;.
e o O0OOUOOOOOO e K*:

Q= Tm—1"T1X0 — Ym * " Y2U1.

gboboboooooboooobood:

i i
Titm—1"""Ti4+1T; =T Typ—1** * T120, Yivm = Yi+2Yiv1 =T Ym - - - Y2Y1.

0000000 2,2 121 =Tm 1712, 0000000000000000
0oooo0ooooo.



2 1. DoOoooobooboooobon

e o, 1OO0ODDODOOOO a; € K*:
m—j 7j—1

m
a; = E Yirm—1"" " Yitj+1Yitj Ligj—2 " Tit1Ty
j=1

= Yirm-1"" " Yir3Yir2Yir1 T Yirm—1"" " Yit3Yit2Ti T Yirm—1"" " Yi+3Tit17;
+ o Yirm—1Yitm—2Titm—a4 " Lit1Ti T Yitm—1Titm—3Titm—4 " Ti+1T;
+ Titm—2Titm—3Titm—a """ Tit1Ti-

000 g, e KXODO0O00O0OODOOOOO:

—(i-1) =

a; :==r a;.

gbob a,e UOOOO0DODOOO0OO0ODOOO:

~ m—1~ -1
Qjgm = T Gy, Ajpm =T Gy

0 11m=2000
ar =yo + a1, G2 =ys+ T
m=3000
a1 = YsY2 + Y31 + T2T1, Q2 = YaY3 + YaTa + T3T2, A3 = YsYa + Y523 + T4T3.
m=4000
a1 = YaY3Y2 + YaYsT1 + YaTak1 + T3Tal1,
A2 = YsYaY3 + YsYaT2 + YsT3T2 + T4T3T2,
as = YeYsya + Y6YsTs + Y6TaTs + T5T4T3,
as = YrY6Ys + YrYeTa + Yr&sTs + Tel524. [
K[z]0000000000 A(?) 000000000
Az):=FEn+-+E, 1+ 2E,.
000 E; 0mxmO00000000.0000 X,Y,A0DO0OOOOOOO:
X = diag(xy,...,Tm),
Y :=diag(yi, - - -, Ym),
A= diag(ay, ..., an).
ooo x0 vyWH Algpoooooooo:
pURE diag(@is1, -+ Tivm)s
Y= diag(yit1, - - Yiem),
A= diag(ais, . . ., Gism)-
i, ¥, a; OO OO0OO0,
AR)XUIA(r=12)~t = X+
A2)YUIA(r12)~t = Yyl
A(rt2) APA(2)~t = Al



1.1. 00o0oOoogd

00 1.2 000000000000000000000:

(1) g 1T — Yigmi = Tigm—1 " Tit1Ti — Yigm *** Yir2Yit1 = ' Q.

(2) a1z — yia; = a.

(3) A(r/'2)AA(2)'X — YA =a.

00. (1)0000000000000. 00 ymas, dime; 000000000,

m—j

m J
Q1T = E Yivm = Yirjr2Virj+1 LTitj—1 " Tip1Ty,
7j=1

A

m m—j+1 j—l
o\

~ Y N\
Yirmai = E Yivm = Yirj+1Yitj Titj—2 " Tit1L4

—_

<
[asry

m—j J

3

<.
Il
o

oo

it 1T — Yi+mQ; = Titm—1 " LTi+1Ti — Yi+m * " Yi+2Yi+1

=T Tm-1""T1X0 = T'Ym " Yol1 =T Q.

(Q)DDDD (1)DDDD yz+mzryz,dzzr1_1az,dz+1:r’a,+1DDDDD,DDD

0000000, (3)0 (20000000000, J

OO0 1.3 kK*xOooooouoo nOOOOO

X' = diag(x},...,2),), Y’ = diag(yy, - .-

rY'm

gooboboodd

(A(x) + X)(A(r2) +Y) = (A(2) + X)(A(r2) + 1),

/ !
mm"'xQ:L‘l :rym...y2y1’

TYm = Y2l1 = Ty, -+ - THT)
obooooooo,bo0boobooog:

(0%

A | _ e L
T; = Qi 1YiQ; = Ty — =Ta; Y0 = Ty —

Qiy1

r_ -1 _ @ -1 -1 _
Yi = Qi@ =Yi+ — =T Q%0 =Y+

7

gooboooooboon:

X =AY A= X — A7
V= AUXA T =Y +aAd "

Yitm = Yitrjr2Virj+1 LTitj—1 " Tip1Ty -

 Yra)

o

Y

Qi1
,rzfl

i

rt 0



4 1. DoOoooobooboooobon

00 1.4 KOOOOOOOOOO det(A(z) + X) = (=1)™ 2+ 2,2, 000. OO
0000000 (1.2) O det(A(z) + X) O rdet(A(r'2) +Y") = (=)™ 2 +ry -y,
0000000oooooooo0. oo (13)oooooooooo. g

001.3000.00 (14), (15 0000020000400000000000. 00
1.20 (2000 a7 = yia; + o, yia; = apr; —a 00000

-1 -1 «Q
a1z, = (yia; + a)a;, =y + —,
i

«

-1 _ -1 _
A 1YiQi = a¢+1(@i+15€z’ —a)=uz; - .
Q41

000 (14), (15 00000 20000000000. 000000 o = r g,
a1 =14, 0000000000,

00 (1.4), (1.5) 00 (1.1), (1.2), (1.3) 0000000000000,
(1.1)00000000000000:

A+ X)AFr'2)+Y)=AR)AF"2) + (X + AR)YAFr'2) " HA(r'2) + XY.
(14), (1.5) 000000000000

X' =A)ATAC )" YA =X —aA(2)A A (r 1)
Y' = Ar '2)AAN(2) ' XA =Y 4 ad™h

O0000000o0ooo 1.)yooooooooo

A2) + XA 2)+Y) = (A2)+ X —aA)ATACT2) YAF2) + Y +ad™)
=A)AF'2) + (X + AR)YAF2) HA(r12)
+ XY +aXA —aA(2)ATA(r T 2) 7Y + PA()ATIA(r ) AT

000 (1.) 0000000 0o0ooooooo
XA = AR)ATA )Y = aA(2)ATTA(r ) AT

0000000120 (3)000000. 000 (1.4),(15) 00 (1.1) 00000000
oooo.
(1.4), (1.5) 0O

/ / -1 -1 -1 -1 —1 —1
ym s yl = am+1xmam s a3x2a2 agmlal =T Q1T " xlal =T Ty---Tq,

Ty B = G YO - O3 Y2205 Y101 =TT Yo -+ Y101 = TY - Y1
000 (1.4), (15 00 (1.2),(1.3)000000000000.

000000 (1.1), (1.2), (1.3) 000000000000, X, Y 0000 (L1),
(1.2),(1.3) 0000000000, X, YYOOOOoOoOoOoooooooooooooo
ogood:

Y=Y +C, C = diag(eq, ..., em),
X'=X—-D, D=diag(d,...,dn).
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00000000 D=A()CAr ) 000 ¢g=aq;' =7"taq, 00000000
gog.
Y=Y+C, X'=X-D0DO (1.1)0000000000COO
= (

A2) + XA 2)+Y) = (A2)+ X = D)A(r ')+ Y +O)
=A)A'2) + (X +AR)YAF2) = D+ AR)CA(r2) HA(r'2)
+ XY +XC—-DY —DC.
000 (1) 0ooo0ooooooooooOoOoooooooooo:
D = A(z)CA(r~t2)7 !, XC - DY = DC.
cum=rc (1=1,...,m)000000000,000000000000000CO:

di:Ci+1 (izl,...,m),

TiCi — Cit1Y; = Cit1G (Z = 1, c. ,m). (16)

000 =00000 00000000 ¢uy=000000,yeKkK*00000
00 ¢, =000000.000000000000 0 0000000000000
00.0000000 Y =Y0OO0OO0O0O (1.2)00

a:T—lmmxl_ymylzy:nyll_ymylzymyl_ymylzo

0000000 ae K*O0000000O0O0. 000 geK*(i=1,...,m)00000
gbooobo.odn ui:c;IDDDD (le) 000000000 OOOOOOO:

Uip1T; — Yiu; = 1 (i=1,...,m).

000w O000000000000. 00000000 y---41, T2 0 KX000
0000 «c K*00000000000000000000O0.0000,:00000
00000000 gy, 000,000 24,---2, 000,00000 i=1,...,m
00000000000000000:

m—i i—1
A A\

m
_1 N7 Y
r U1!Em"'$1—ym"'y1U1ZE Ym = Yir1 Tj—1 - T1 -
=1

000000 oy 0000,000 & 000000 wy=a'a 0000 ¢ =ad;’ O
00.00 ¢00000000000000 ¢g=r"lea;'000000000.000
000 (1.1), (1.2),(1.3) 00000000000, [

015 (m=2000)m=2000 a=x120—1yy 000,
ro

Ys + o

7’204

ys + x5’
yr=r"(ys+z)ri(e+ 1) =y +

zy =r(ys + 962)_1591(92 +x1) =21 —

2y = r(ys + 23) 'ya(ys + T2) = 19 —

)
Y2 + 1
ro

Ys + o

Yy =1 (ya + 23)T2(ys + 22) T = Yo +



6 1. DoOoooobooboooobon

016 (m=3000) m=3000 a=mx120—ysyey: 000,

ro
2y = 1(yays + Yao + 2322) Y1 (Ysy2 + y3T1 + 221) = 1 — )
' ( ) ( ) Yalys + YaXo + T3To
2
thy = 1(ysys + YsTs + ax3) " Y2(Yays + yaTa + T322) = T — -
2 Ysys + YsTz + T4T3’
3
ry = 1(Yys + YoTa + x5a:4)_1y3(y5y4 + Y53 + T423) = X3 — ra
’ YeYs + YeTa + T5Ty
/ —1 -1 (6%
Y1 =71 (Yays + Yaxo + X322)T1(Y3Y2 + Y3T1 + T2T1) = Y1 + ;
' ( 7 ) Y3Y2 + Y321 + Tox
/ o —1 _1 o TO[
Yo =1 (Ysya + UsT3 + 243) X2 (Yays + YaZo + T322) " = Yo + )
Yays3 + YaTo + T3T2
r2a

/ -1 -1 _ —+
Ys =1 (YeYs + YeTa + T5T4)T3(Ysya + Y523 + Ty Yy :
3 (y6ys + yoa + T5a)a(ysys + yss + Tas) ’ YsYa + YsT3 + 243

1.2 OOUOoooon

1.3 O0OOooooogon

00 1.7 KOODOOOOODOOO0, 25 €K (i=1,....,mj=1...,n)000. nxn
00 Ki(2),...,Kn(z) O mxm OO Vi(w),...,V,(w) DOOODOOODOOO:

gbobobooggoboobooagd:
det((—1)" w4+ K1(2) - Kp(2)) = det((=1)" 'z 4+ Vi(w) - - - Vo (w)). [

OO0 1.8 0017000000 mxnUOUODOOOOOO mxm O local L-operators U
0000 nxnOlocal L-operators U D OO OOOOOOOOOOOOOOO. [

019 (m=1000)m=1000 z;=2,, 0000
T 1

K@= 7 | Vi) =w+a

gooo

det(w + Ki(2)) = (=1)" 2+ (w+ 1) - (0 + x),
det((—l)"‘lz + Vi(w)--- Vn(w)) = (D)2 4+ (w4 z1) - (w+ )

obd,m=10000000001700000000000O00DO. O



1.3. 00bOoOoooaooo 7

0 1.10(m:2DDD)m:2DDDDD,xJ:x1],y]:ygjDDD,xJ,yJDDDD n
Duobodobododoooogod,gbodabdoadn:

g =2y, fi=ri Ty, L(z) = Ki(2)Ky(2),

_ 1 0
Fj(w) = P7Vj(w) Py,  Pj= :
y; 1
oggo )
€1 f1 1
€2 f2
() = e 1l Rmw=| Y
3 ! w —E;j 0
z fn—l
2fn 2 En |

gooobol7om=200000000000000000:
det(—w + L(z)) = det((=1)" 'z + Fi(w) - - F,(w)).

00000 det(-w+L(z)) 0000000000 n000000000000000
000 F(w)-- F,(w)0rn00000000000000000000000O0O00OO0
oooo. [



